There are 3 chc[es, 3 trLang[es and 3 squares in this grLd.

There are no squares in the nd row

There are 2 squares in the middle column.

There is a circle in the top left corner. A
There is a circle in the bottom "rLght corner.

There are not 3 of the same sha[w in any row, column
or dLagonal.

There are 2 trmng[es in the middle row.

There are 2 trmng[es in the fLrst column.




There are 3 squares, 3 circles and 3 t"rLcmgles in this g“rLd.

One of the dLagona[s has 2 trmng[es in it and the other
dLagona[ has 2 circles.

There are 2 squares side Dg side in the 3rd row.

There are no circles in the middle column.
The sha//w in the middle is a trmng[e.

The top row has one of each shape in Lt

There is one circle in the last column.

There is a trLang[e in the tola [eft box.




There are 3 squares, 3 circles and 3 trLcmg[es in this grtd.
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. One column has 2 trLangles in it and another
column has 2 circles in it .
. There is a trLangle in the middle of the fLrst column.

. Each row has 3 deferent sha/@es in Lt

. The sha/fw in the middle is the same as the top rLght and
the bottom [eft sha[w.

. [here is a circle in the Lottom rLght corner, rut no

circles in the middle column.

. Part of the gﬂd looks like this: IC:|>




. One of the sha[ws in the g'rLd has ¢ sides. It is in a
corner.

. The sha/fw in the middle of the last column has 4
sides.

. The sha/fw in the bottom [eft COTNner LS a
cluadm[atera[, but it is not a square or a rectcmg[e.
. [here are 3 circles in the grLd but none of them are
next to each other in any row or column. %4
. There is a heragon in the fLrst column.

. Th@'f”@ are 2 SQM,QTES in th@ same CO[M,'VVL'VL.

. There is a rectangle in the middle row.




